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June Shawl
created by Lisa Overby

Easy 1 skein asymmetrical triangle shawl. Knits up quick and showcases that
single skein of fingering weight yarn that had to come home with you!
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June Shawl



MATERIALS & INFO

Yarn: 1skein Yarn Twisters SW Sock Yarn, 100 g (415
yards/379 m), sample knit in colourway Berry Burst

Gauge: 18 sts x 28 rows (unblocked); 16 sts x 28 rows
in pattern (blocked)

Needles: 3.75 mm (US 5) 32” circular (or needle re-
quired to obtain gauge)

Notions: stitch marker, darning needle

Finished size: Wingspan- 69” (175 cm); Centre Depth -
18” (46 cm)

Note: This pattern uses almost all of the 415 yards. In
order to ensure you have enough yarn, you can do
your gauge swatch and then unravel it to start the
project.

PATTERN INSTRUCTIONS

Caston 3 sts

Set up

Row 1 (RS): kfb, kfb, k1 (5 sts)
Row 2 (WS): k1, p3, ki

Row 3: kfb, k2, kfb, k1 (7 sts)
Row 4: k3, p1, k3

Row 5: kfb, k1,cdd (place a locking st marker on this
st), kfb, k1

Row 6: kfb, p to 2 sts remaining, kfb, k1 (9 sts)
1st Section

Row 1 (RS): kfb, k to 1 st before marked st, cdd (move
marker up as the shawl progresses), k to 2 sts remain-
ing, kfb, k1

Row 2 (WS): kfb, k to marked st, p1, k to 2 sts remain-
ing, kfb, k1 (2 sts increased)

Row 3: kfb, k to 1 st before marked st, cdd, k to 2 sts
remaining, kfb, k1

Row 4: kfb, p to 2 sts remaining, kfb, k1 (2 sts in-
creased)

Repeat Rows 1 to 4 eighteen more times (85 sts)
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ABBREVIATIONS
BO - bind off

cdd - slip 2 stitches as if to k2tog, knit 1, pass 2 slipped
stitches together over the knit stitch (2 stitches de-
creased)

CO -caston
k — knit

kfb - knit into the front of the st, leaving on the nee-
dle, knit into the back of st, dropping st off needle (1
sts increased)

k2tog - knit the 2 sts together as one (1 st decreased)
p - purl

RS - right side

st/sts - stitch/stitches

WS - wrong side

2nd Section

Row 1 (RS): kfb, k to 1 st before marked st, cdd (move
marker up as the shawl progresses), k to 2 sts remain-
ing, kfb, k1

Row 2 (WS): k to marked st, p1, k to 2 sts remaining,
kfb, k1 (I st increased)

Row 3: kfb, k to 1 st before marked st, cdd, k to 2 sts
remaining , kfb, k1

Row 4: k2, p to 2 sts remaining, kfb, k1 (I st increased)
Repeat Rows 1 to 4 thirteen more times (113 sts)
3rd Section

Row 1 (RS): kfb, k to 1 st before marked st, cdd (move
marker up as the shawl progresses), k to end (1 st de-
creased)

Row 2 WS): k to marked st, p1, k to 2 sts remaining,
kfb, k1 (1 st increased)

Row 3: kfb, k to 1 st before marked st, cdd, k to end (1
st decreased)

Row 4: k2, p to 2 sts remaining, kfb, k1 (1 st increased)

Repeat Rows 1to 4 fourteen more times, until you
have 2 sts on the left side of the cdd (RS facing)

Bind off using an elastic/stretchy bind off. Weave in
ends, block and enjoy!
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